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1. Write the predecessor of each of the following:

483692

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tmtCn7h5VoGf

2. Write the predecessor of each of the following:

5983210

° Watch Video Solution

3. Write the predecessor of each of the following:

600000

o Watch Video Solution

4. Write the successor of each of the following:

986959

° Watch Video Solution



https://dl.doubtnut.com/l/_1WVGmqgtGUKp
https://dl.doubtnut.com/l/_3rRugMFNqv7p
https://dl.doubtnut.com/l/_SQ6xqE7CIcgq

5. Write the successor of each of the following:

3840517

° Watch Video Solution

6. Write the successor of each of the following:

9989899

o Watch Video Solution

7.Add 5 and 6 using number line.

° Watch Video Solution



https://dl.doubtnut.com/l/_el9TVLFF9Hop
https://dl.doubtnut.com/l/_ikQgfwBsMgF8
https://dl.doubtnut.com/l/_3bwgyFwjJpNQ
https://dl.doubtnut.com/l/_g6BfY3MO6IPg

8. Subtract 5 from 13 on number line.

° Watch Video Solution

9. Multiply 5 X 2 on number line.

° Watch Video Solution

10. Find out whether 2455 + 2223 = 2223 + 2455 or not.

° Watch Video Solution

11. Find the sum using suitable rearrangement.

1436 + 586 + 564



https://dl.doubtnut.com/l/_g6BfY3MO6IPg
https://dl.doubtnut.com/l/_vaz3S5woYPl0
https://dl.doubtnut.com/l/_XXz8s07OMLlk
https://dl.doubtnut.com/l/_6wa0NkPQVyw0

\ ° Watch Video Solution

12. Find the sum using suitable rearrangement.

364 + 517 + 636 + 983

° Watch Video Solution

13. Find 16 x 25 using distributivity.

° Watch Video Solution

14. Find the product using suitable rearrangement:

1963 x 2 x 50

I ° war_o_L vl ~_ ..


https://dl.doubtnut.com/l/_6wa0NkPQVyw0
https://dl.doubtnut.com/l/_ZjTSxSS4rGsq
https://dl.doubtnut.com/l/_GTmKJx990tix
https://dl.doubtnut.com/l/_HckwI6GHUVhn
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15. Find the product using suitable rearrangement:

5 x 30 x 40

° Watch Video Solution

16. Find the product using suitable rearrangement:

25 x 291 x 40

° Watch Video Solution

17. Simplify : 931 x 95 — 83 x 931.

o Watch Video Solution



https://dl.doubtnut.com/l/_HckwI6GHUVhn
https://dl.doubtnut.com/l/_4T0zrf0LlAyU
https://dl.doubtnut.com/l/_9Cvew0xDoyI5
https://dl.doubtnut.com/l/_QxaCkjcfe5IQ

Solved Examples

1. Write the successor and predecessor of 2006389. Also,

find their difference.

° Watch Video Solution

2.Represent 4 X 4 on number line.

° Watch Video Solution

3. In a school canteen, Seeta spends ¥ 20 on cold drinks

everyday. How much money does Seeta spend in 1 week?


https://dl.doubtnut.com/l/_QxaCkjcfe5IQ
https://dl.doubtnut.com/l/_KRwoyh9vnVwn
https://dl.doubtnut.com/l/_2AWcURghSoxz
https://dl.doubtnut.com/l/_aPmvY8pDgDGE

° Watch Video Solution

4. What is the product of successor and predecessor of

9997

° Watch Video Solution

5. An officer bought 30 tables and 30 chairs. If the cost of
a table is ¥ 500 and that of a chair is ¥ 250, how much did

the officer spend?

° Watch Video Solution

6. Represent 1 4 6 using the number line.


https://dl.doubtnut.com/l/_aPmvY8pDgDGE
https://dl.doubtnut.com/l/_0zNRWomr3kTf
https://dl.doubtnut.com/l/_mZRQh3UlISx8
https://dl.doubtnut.com/l/_G4jwOqqdHsz0

° Watch Video Solution

7. What is the value of 500 x 681 x 0 x 501?

° Watch Video Solution

8. Verify the associative property of addition and

multiplication if a = 358, b = 962 and ¢ = 142.

° Watch Video Solution

9. In a city, there are 45 schools. Each school has 38

rooms and each room has 98 chairs and tables. How


https://dl.doubtnut.com/l/_G4jwOqqdHsz0
https://dl.doubtnut.com/l/_AEifNdVKF289
https://dl.doubtnut.com/l/_RdcauVPWhmFN
https://dl.doubtnut.com/l/_FpRqfKeTaRu9

many chairs and tables will be there in total? Calculate it

using suitable property.

° Watch Video Solution

10. Represent 10 — 3 on number line.

° Watch Video Solution

1. Verify the distributive property of multiplication over

addition and subtraction ifa = 128, b = 93, ¢ = 16.

° Watch Video Solution



https://dl.doubtnut.com/l/_FpRqfKeTaRu9
https://dl.doubtnut.com/l/_zFAWajlhLvQO
https://dl.doubtnut.com/l/_OLKDByNXPO9A

12. Find the sum by suitable rearrangement.

389 + 695 + 895 + 611

° Watch Video Solution

13. Find the sum by suitable rearrangement.

537 + 954 + 1463 + 46

o Watch Video Solution

14. Find the product by suitable rearrangement.

125 x 43 x 160

° Watch Video Solution



https://dl.doubtnut.com/l/_dcgWjglfiZZl
https://dl.doubtnut.com/l/_oTmRixM7maUU
https://dl.doubtnut.com/l/_R5feKrcHDEgR

15. Find the product by suitable rearrangement.

628 x 96 x 15

° Watch Video Solution

16. Simplify the following using suitable property.

496 x 450 — 496 x 380

o Watch Video Solution

17. Simplify the following using suitable property.

836 x 105

° Watch Video Solution



https://dl.doubtnut.com/l/_HbXx2Pc3sQyv
https://dl.doubtnut.com/l/_TG4esYXoFsYT
https://dl.doubtnut.com/l/_rT7ymFeEdkaw

18. Simplify the following using suitable property.

166 x 180 x O

° Watch Video Solution

19. Use the suitable property to simplify each of the
following and also name them.

148 x 16 x 125

° Watch Video Solution

20. Use the suitable property to simplify each of the
following and also name them.

348 x 505


https://dl.doubtnut.com/l/_mhy5ZI6Ng2QV
https://dl.doubtnut.com/l/_qF3KaHYxlTV7
https://dl.doubtnut.com/l/_2VRzlOpj5NvM

° Watch Video Solution

21. Use the suitable property to simplify each of the
following and also name them.

198 x 994

° Watch Video Solution

22. Use the suitable property to simplify each of the
following and also name them.

586 x 4 + 586 x 6

° Watch Video Solution



https://dl.doubtnut.com/l/_2VRzlOpj5NvM
https://dl.doubtnut.com/l/_ZOFqpdonPsx4
https://dl.doubtnut.com/l/_zLhmYBke2Lv3

Ncert Section Exercise 2 1

1. Write the next three natural numbers after = “10999

° Watch Video Solution

2. Write the three whole numbers occurring just before

1001.

° Watch Video Solution

3. Which is the smallest whole number?

° Watch Video Solution



https://dl.doubtnut.com/l/_auqHremsyjwx
https://dl.doubtnut.com/l/_D1fwbLfjh9k9
https://dl.doubtnut.com/l/_yBIN0SVutUk2

4. How many whole numbers are there between 32 and

537

° Watch Video Solution

5. Write the successor of :

2440701

o Watch Video Solution

6. Write the successor of :

100199

° Watch Video Solution



https://dl.doubtnut.com/l/_SL7IEBTmqLIE
https://dl.doubtnut.com/l/_tVWk7fk5PTX6
https://dl.doubtnut.com/l/_ASgwOOvzyRyK

7. Write the successor of :

1099999

° Watch Video Solution

8. Write the successor of :

2345670

o Watch Video Solution

9. Write the predecessor of : (a) 94 (b) 10000 (c) 208090

(d) 7654321

° Watch Video Solution



https://dl.doubtnut.com/l/_raVYqR3u6GBf
https://dl.doubtnut.com/l/_gtjbXs09xUHW
https://dl.doubtnut.com/l/_MjStV5D1qnoi

10. Write the predecessor of :

10000

° Watch Video Solution

11. Write the predecessor of :

208090

o Watch Video Solution

12. Write the predecessor of :

7654321

° Watch Video Solution



https://dl.doubtnut.com/l/_wn8fo7TYpSqb
https://dl.doubtnut.com/l/_mMg1ALMDsUyf
https://dl.doubtnut.com/l/_859kTYMwdazk

13.In each of the following pairs of numbers, state which
whole number is on the left of the other number on the
number line. Also write them with the appropriate sign
( >, <) between them.

530, 503

° Watch Video Solution

14. In each of the following pairs of numbers, state which
whole number is on the left of the other number on the
number line. Also write them with the appropriate sign
( >, < ) between them.

370,307

° Watch Video Solution



https://dl.doubtnut.com/l/_hCXQSMCLNBs8
https://dl.doubtnut.com/l/_TNVeF3i476DS

15.In each of the following pairs of numbers, state which
whole number is on the left of the other number on the
number line. Also write them with the appropriate sign
( >, <) between them.

98765, 56789

° Watch Video Solution

16.In each of the following pairs of numbers, state which
whole number is on the left of the other number on the

number line. Also write them with the appropriate sign

l""":\Ieft( {> {\rm{ < }}} \right)

° Watch Video Solution



https://dl.doubtnut.com/l/_TNVeF3i476DS
https://dl.doubtnut.com/l/_OAsvNXUG4fHf
https://dl.doubtnut.com/l/_TvqOwrUqeYpY

Ncert Section Exercise 2 1 True Or False

1. Zero is the smallest natural number.

° Watch Video Solution

2.400 is the predecessor of 399.

o Watch Video Solution

3. Zero is the smallest whole number.

° Watch Video Solution



https://dl.doubtnut.com/l/_TvqOwrUqeYpY
https://dl.doubtnut.com/l/_Np9o4z5gHWxz
https://dl.doubtnut.com/l/_96ng9RrDjTQn
https://dl.doubtnut.com/l/_7niNuL95K2P7

4,600 is the successor of 599.

° Watch Video Solution

5. (iv) All natural numbers are whole numbers.

° Watch Video Solution

6. All whole numbers are natural numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_pNyLDYa1lh58
https://dl.doubtnut.com/l/_ecTsWyrZFF8p
https://dl.doubtnut.com/l/_Kapf6kKLXhQN

7.The predecessor of a two digit number is never a single

digit numbers.

° Watch Video Solution

8.1 is the smallest whole number.

o Watch Video Solution

9. The natural number 1 has no predecessor.

° Watch Video Solution



https://dl.doubtnut.com/l/_w1oacYKc3ju9
https://dl.doubtnut.com/l/_YEpn0gdlTaTz
https://dl.doubtnut.com/l/_KCxLsSJqlpnX

10. The whole number 1 has no predecessor.

° Watch Video Solution

11. The whole number 13 lies between 11 and 12.

° Watch Video Solution

12. The whole number 0 has no predecessor.

° Watch Video Solution



https://dl.doubtnut.com/l/_3ZnBCLrJm4mN
https://dl.doubtnut.com/l/_87j45154jLzR
https://dl.doubtnut.com/l/_D5asr1Fb952Y

13. The successor of a two-digit number is always a two-

digit number.

° Watch Video Solution

Ncert Section Exercise 2 2

1. Find the sum by suitable rearrangement: (a)

&2

837 + 208 + 363

° Watch Video Solution

2. Find the sum by suitable rearrangement: (a)

&2

837 + 208 + 363


https://dl.doubtnut.com/l/_fE6smfcLMjXk
https://dl.doubtnut.com/l/_90LY8iV16cpn
https://dl.doubtnut.com/l/_vOQfgkjRjPFM

° Watch Video Solution

3. Find the product by suitable rearrangement: (a)

L‘-'
“2 \times 1768 \times 500

Watch Video Solution

4. Find the product by suitable rearrangement: (a)

|.‘||
L"’Z \times 1768 \times 50°

Watch Video Solution

5. Find the product by suitable rearrangement:

8 x 291 x 125

& ]


https://dl.doubtnut.com/l/_vOQfgkjRjPFM
https://dl.doubtnut.com/l/_Lu1gGUAnqOmQ
https://dl.doubtnut.com/l/_B4m1el7BkdWT
https://dl.doubtnut.com/l/_Mq2K7CxRdqgu

[ W Watch Video Solution

6. Find the product by suitable rearrangement:

625 x 279 x 16

o Watch Video Solution

7.Find the product by suitable rearrangement:

285 x 5 x 60

° Watch Video Solution

8. Find the product by suitable rearrangement:

125 x 40 x 8 x 25



https://dl.doubtnut.com/l/_Mq2K7CxRdqgu
https://dl.doubtnut.com/l/_KRoPUsu46tmV
https://dl.doubtnut.com/l/_GqhCVVjELVPQ
https://dl.doubtnut.com/l/_iy6aghcD3Em5

I o Watch Video Solution

9. Find the value of the following:

297 x 17 + 297 x 3

° Watch Video Solution

10. Find the value of the following:

54279 x 92 + 8 x 54279

O Watch Video Solution

11. Find the value of the following:

81265 x 169 — 81265 x 69


https://dl.doubtnut.com/l/_iy6aghcD3Em5
https://dl.doubtnut.com/l/_jDddyrsUVW0q
https://dl.doubtnut.com/l/_j0Hu8gIUFyIB
https://dl.doubtnut.com/l/_CcQc75JAULJH

° Watch Video Solution

12. Find the value of the following:

3845 x 5 x 782 4+ 769 x 25 x 218

° Watch Video Solution

13. Find the product using suitable properties.

&=

738 \times 103

(a)

o Watch Video Solution

14. Find the product using suitable properties.

&2

738 \times 103


https://dl.doubtnut.com/l/_CcQc75JAULJH
https://dl.doubtnut.com/l/_jynhfzGJOMuK
https://dl.doubtnut.com/l/_gJHrtHcC5xg1
https://dl.doubtnut.com/l/_znjkMb3oaDF7

° Watch Video Solution

15. Find the product using suitable properties. (a)

&2

738 \times 103

o Watch Video Solution

16. Find the product using suitable properties.

1005 x 168

° Watch Video Solution

17. A taxi driver filled his car petrol tank with 40 litres of

petrol on Monday. The next day, he filled the tank with 50


https://dl.doubtnut.com/l/_znjkMb3oaDF7
https://dl.doubtnut.com/l/_HIsdpaPGiYD2
https://dl.doubtnut.com/l/_5f0mo9iJkUKE
https://dl.doubtnut.com/l/_mXwThSUojrOt

litres of petrol. If the petrol costs Rs 44 per litre, how much

did he spend in all on petrol?

o Watch Video Solution

18. A vendor supplies 32 litres of milk to a hotel in the
morning and 68 litres of milk in the evening. If the milk
costs Rs 15 per litre, how much money is due to the vendor

per day?

° Watch Video Solution



https://dl.doubtnut.com/l/_mXwThSUojrOt
https://dl.doubtnut.com/l/_JPPMK8xN62Jh

19. Match the following:

U AZD % ISh = 325 la} Commutativily
« (b + 30 + 1040} under multiplication.
(i) 2= 49 = 50 (b} Commulativily
=2 = 50 = 49 under addition.
(ill) B0 + 2005 + 20 (e} Dristributivity of
= 80 + 20 + 2005 multiplication over
addition,

o Watch Video Solution

Ncert Section Exercise 2 3

1. Which of the following will not represent zero?

1+0

o Watch Video Solution



https://dl.doubtnut.com/l/_eNWkyKlhFCyF
https://dl.doubtnut.com/l/_toteobV5BBEf
https://dl.doubtnut.com/l/_SRFDkR2Rw9Vh

2. Which of the following will not represent zero?

0x0

° Watch Video Solution

3. Which of the following will not represent zero?

0/2

o Watch Video Solution

4. Which of the following will not represent zero?

(10 — 10) /2

° Watch Video Solution



https://dl.doubtnut.com/l/_SRFDkR2Rw9Vh
https://dl.doubtnut.com/l/_3JBSDyA6wb71
https://dl.doubtnut.com/l/_rXrdd3mkxhD5
https://dl.doubtnut.com/l/_BaJo7dYJ1SkU

5. If the product of two whole numbers is zero, can we say
that one or both of them will be zero? Justify through

examples.

o Watch Video Solution

6. If the product of two whole numbers is 1, can we say that

one or both of them will be 17 Justify through examples.

° Watch Video Solution

7.Find using distributive property:

728 x 101

I ° Watch Video Solution


https://dl.doubtnut.com/l/_BaJo7dYJ1SkU
https://dl.doubtnut.com/l/_JehkyHS3M4jt
https://dl.doubtnut.com/l/_mPNFqbXv3PMp

I'."b|
8. Find using distributive property : (a) |""’728 \times 101°

Watch Video Solution

9. Find using distributive property:

824 x 25

o Watch Video Solution

R N =S, |
10. Find using distributive property : (a) = “728 \times 101

Watch Video Solution

Ib|
1. Find using distributive property : ( l’ “728 \times 101°


https://dl.doubtnut.com/l/_mPNFqbXv3PMp
https://dl.doubtnut.com/l/_6kAAkk2QrnRl
https://dl.doubtnut.com/l/_C6F3O2hAaa3X
https://dl.doubtnut.com/l/_NM4NXe6AP1hk
https://dl.doubtnut.com/l/_pMsf9gMc16ar

Watch Video Solution

12. Study the pattern :

1x8+1=9 1234 x 8 + 4 = 9876
12 x 8+ 2 =98 12345 x 8 + 5 = 98765
123 x 8 + 3 = 987

Write the next two steps. Can you say how the pattern

works?

° Watch Video Solution

Exercise Multiple Choice Questions Level 1

1. Which one of the following whole numbers does not have

a predecessor? 1(b) O (c) 2 (d) none of these


https://dl.doubtnut.com/l/_pMsf9gMc16ar
https://dl.doubtnut.com/l/_yHPtYrTcFhpi
https://dl.doubtnut.com/l/_dsAJl8spAHHK

A2

B.O

C.1

D. 1000

Answer:

° Watch Video Solution

2. What is the value of n if

(9x4)+ (nx5)=9x (4+5)?

A.9

B.4


https://dl.doubtnut.com/l/_dsAJl8spAHHK
https://dl.doubtnut.com/l/_2wPDkIff1mOj

C.5

D. none of these

Answer:

o Watch Video Solution

3. What is the additive identity element in the set of whole

numbers? 0 (b) 1 —1 (d) None of these

Al

B.O

C.2

D. does not exist


https://dl.doubtnut.com/l/_2wPDkIff1mOj
https://dl.doubtnut.com/l/_XHNQ3RctlB2X

Answer:

0 Watch Video Solution

4. \What is the successor of 871929?

A. 872030

B. 871930

C. 872930

D. 971929

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_XHNQ3RctlB2X
https://dl.doubtnut.com/l/_2GbKFUngCIY0
https://dl.doubtnut.com/l/_5LRT8VOd67EX

5. What is the identity element with respect to

multiplication?

AO

B.2

C.1

D. none of these

Answer:

o Watch Video Solution

6. The value of 2575 = 25 + 2575 = 2575is

A1l


https://dl.doubtnut.com/l/_5LRT8VOd67EX
https://dl.doubtnut.com/l/_3bMk0bTDVTtd

B. 103

C. 104

D. 102

Answer:

o Watch Video Solution

7. The commutative property for multiplication states that
Aa+b=b+a
B.axb=0>bxa

Cax(b+c)=(axb) +c


https://dl.doubtnut.com/l/_3bMk0bTDVTtd
https://dl.doubtnut.com/l/_tlip5Oewa0Fn

D.a+(b+c)=(a+b) +c

Answer:

o Watch Video Solution

8.If a is any whole number, then 0 < a is

B.1

C.0

D. not defined

Answer:

I ° Watch Video Solution


https://dl.doubtnut.com/l/_tlip5Oewa0Fn
https://dl.doubtnut.com/l/_FkxmtA8LLuV6

9. The value of ¢ in (18 +9) +45=18+ (9+¢) is
A.9
B. 54
C.45

D. 18

Answer:

o Watch Video Solution

10. The value of 258 x 96 + 258 x 4 is


https://dl.doubtnut.com/l/_FkxmtA8LLuV6
https://dl.doubtnut.com/l/_kOz2uwU7HezY
https://dl.doubtnut.com/l/_HiwTGQJYoSel

A. 2580

B. 258

C. 25800

D.100

Answer:

o Watch Video Solution

11. What is the successor of predecessor of 1 lakh?

A. 1,00,001

B. 1,00,000

C. 99999


https://dl.doubtnut.com/l/_HiwTGQJYoSel
https://dl.doubtnut.com/l/_QScsChTjd04a

D. 99998

Answer:

o Watch Video Solution

12.Solve : 1446 x 0 x 8432

A. 12192672

B. 1446

C. 8432

D.O

Answer:

I ° Watch Video Solution


https://dl.doubtnut.com/l/_QScsChTjd04a
https://dl.doubtnut.com/l/_h5EReSc4nu0m

13. Whole numbers are not commutative under

A. Multiplication

B. Subtraction

C. Addition

D. Both multiplication and addition

Answer:

o Watch Video Solution

14. The population of a town is 20,000. If 7000 are men and

9200 are women, find the number of children?


https://dl.doubtnut.com/l/_h5EReSc4nu0m
https://dl.doubtnut.com/l/_pcq8j7Y2zEBq
https://dl.doubtnut.com/l/_nRlOw96f8bJJ

A. 13000

B. 3880

C. 13800

D. 3800

Answer:

° Watch Video Solution

15. Which of the following will not represent zero?

A 113 x 14 x 0

B.OxO

C.0+2


https://dl.doubtnut.com/l/_nRlOw96f8bJJ
https://dl.doubtnut.com/l/_exCeCe1brMH3

D.12 -0

Answer:

o Watch Video Solution

16. Find predecessor of 5628 + 97348.

A. 906126

B. 127906

C. 102975

D. 102976

Answer:

I ° Watch Video Solution


https://dl.doubtnut.com/l/_exCeCe1brMH3
https://dl.doubtnut.com/l/_SmZnLfcYwvaS

17. Which of the following number line represents 4 + 5?

Answer:

o Watch Video Solution

18.98 + (52 x 10) =


https://dl.doubtnut.com/l/_SmZnLfcYwvaS
https://dl.doubtnut.com/l/_s68ZttZypRHH
https://dl.doubtnut.com/l/_OaWGY8JdFzKW

A.98 + 52 x 98 + 10
B. 98 -+ 528
C.98 + (10 x 25)

D. 98 + 520

Answer:

o Watch Video Solution

19. The successor of 5832 + 94167 is

A. 99999

B. 100006

C. 100000



https://dl.doubtnut.com/l/_OaWGY8JdFzKW
https://dl.doubtnut.com/l/_QJTewFBNBJl6

D. 900000

Answer:

o Watch Video Solution

20. The smallest whole number is

A.O

B.1

C.2

D.3

Answer:

I ° Watch Video Solution


https://dl.doubtnut.com/l/_QJTewFBNBJl6
https://dl.doubtnut.com/l/_OryG3YvSUw3K

21.95 - 0= __

A0-+95

B.1

C.95

D. not defined

Answer:

° Watch Video Solution

22.1935 x 782 x 15 =


https://dl.doubtnut.com/l/_OryG3YvSUw3K
https://dl.doubtnut.com/l/_oHw6bFlc5GWm
https://dl.doubtnut.com/l/_yucJiqqYQpm7

A. 1935 x 43 x 252

B.15 x 982 x 768

C.46 x 1935 x 255

D. 148 x 596 x 482

Answer:

o Watch Video Solution

23. The product of the predecessor and successor of the

largest 4-digit number formed from the digits 3, 0, 8, 2 is

A. 69222939


https://dl.doubtnut.com/l/_yucJiqqYQpm7
https://dl.doubtnut.com/l/_LaMCkRscDxNj

B. 6922399

C. 96222399

D. 69222399

Answer:

o Watch Video Solution

24. The predecessor of 1 million is

A. 9999

B. 99999

C. 999999

D. 9999999


https://dl.doubtnut.com/l/_LaMCkRscDxNj
https://dl.doubtnut.com/l/_5rKxJ28fjgcU

Answer:

0 Watch Video Solution

25.986 x 151 4 986 x 251 + 986 x 123 = _

A. 561705

B. 517650

C. 451750

D. 489650

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_5rKxJ28fjgcU
https://dl.doubtnut.com/l/_SsuOLnrQCcEo
https://dl.doubtnut.com/l/_kXWtjr1RS49c

26. Which of the following is incorrect?

A. 999 is the predecessor of the smallest 4-digit number.

B. The natural number 1 has no predecessor

C.The predecessor of a 2-digit number cannot be a

single digit number.

D. 100 is the successor of the greatest two digit number

Answer:

° Watch Video Solution

27.The predecessor of 8350 is


https://dl.doubtnut.com/l/_kXWtjr1RS49c
https://dl.doubtnut.com/l/_MieInG1G4TLE

A. 8347

B. 8348

C. 8349

D. 8351

Answer:

° Watch Video Solution

28. What must be added to 867 to make to 100007

A.133

B. 143

C. 9133


https://dl.doubtnut.com/l/_MieInG1G4TLE
https://dl.doubtnut.com/l/_fc0kmk1TC80Y

D. 9143

Answer:

o Watch Video Solution

29.22(22 + 22) is equal to

A. 968
B. 986
C. 988

D. 966

Answer:

I ° Watch Video Solution


https://dl.doubtnut.com/l/_fc0kmk1TC80Y
https://dl.doubtnut.com/l/_0r8UFLcK8cKy

30. Find the sum by suitable rearrangement.

1+2+3+4+196+ 197 + 198 4 199

A.700

B. 900

C. 800

D. 1000

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0r8UFLcK8cKy
https://dl.doubtnut.com/l/_lWEMOKGD2lOt

31. Using suitable property, find

1265 x 1265 — 1265 x 265.

A. 1265000

B. 126500

C. 12650

D. 1265

Answer:

the

value

of

o Watch Video Solution

32. Which of the following is true?


https://dl.doubtnut.com/l/_A9ComsR54b6N
https://dl.doubtnut.com/l/_vyn1dL5Ns7kh

A. 510 > 201

B.510 < 501

C.510 = 201

D. none of these

Answer:

o Watch Video Solution

33.(5+2) + 8 = 5+ (2 + 8) is known as

A. commutativity of addition
B. associativity of addition

C. commutativity of multiplication


https://dl.doubtnut.com/l/_vyn1dL5Ns7kh
https://dl.doubtnut.com/l/_mV0yMLUWm6pv

D. associativity of multiplication

Answer:

o Watch Video Solution

34.Find the product by rearranging suitably: 199 x 8 x 125

A. 199000

B. 99000

C. 100099

D. 19900

Answer:

I ° Watch Video Solution


https://dl.doubtnut.com/l/_mV0yMLUWm6pv
https://dl.doubtnut.com/l/_eepb326RAgIs

35. 66,666 is the successor of

A. 666665

B. 66668

C. 66667

D. 66665

Answer:

° Watch Video Solution

Exercise Multiple Choice Questions Level 2


https://dl.doubtnut.com/l/_eepb326RAgIs
https://dl.doubtnut.com/l/_SEZCSDa03UvX

1. Which of the following statements does not hold true for

the whole numbers, a, b and c?

Aa+(b+c)=(a+Db) +c
B.a+ (b+c¢)=(a+b)+c
Cax(bxc)=(axb) xc

D.a+b=0b+a

Answer:

o Watch Video Solution

2. Which expression does not have the same value as the

expression 9 x (6 + 46)?


https://dl.doubtnut.com/l/_ko0wMYf7vzhC
https://dl.doubtnut.com/l/_SU0dXRhZNU2o

A. .9 x 52
B.OX6+9 x 46
C. (94 6) x (9 + 46)

D.9 x (46 + 6)

Answer:

o Watch Video Solution

3. There are six poles on a side of a 1 km 200 m long
straight road such that there is a pole at the starting and
end point of the road. If the poles are equally spaced, then

what is the distance between each consecutive pole?

A.200m


https://dl.doubtnut.com/l/_SU0dXRhZNU2o
https://dl.doubtnut.com/l/_wXlM9vGY7bfs

B.210 m

C.230m

D.240m

Answer: 240m

o Watch Video Solution

4. Find the product using

149 x 70 4+ 149 x 20 4 149 x 10.

A. 14800

B. 34000

C. 14900

distributive

property


https://dl.doubtnut.com/l/_wXlM9vGY7bfs
https://dl.doubtnut.com/l/_0y0ei5IeYbJp

D. 20800

Answer:

o Watch Video Solution

5. Find the product of predecessor of greatest 4-digit

number and the successor of greatest 3-digit number.

A. 9899000

B. 9998000

C. 8989000

D. 9989000

Answer:


https://dl.doubtnut.com/l/_0y0ei5IeYbJp
https://dl.doubtnut.com/l/_Da0isEM7uxUR

° Watch Video Solution

6. The product of the successor and predecessor of 199 is

A. 19800

B. 39600

C. 10990

D. 19700

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Da0isEM7uxUR
https://dl.doubtnut.com/l/_2I4GWlyz3GCq

7. Which of the following statements is correct?

A.Between any two whole numbers there is a whole

number

B.If a and b are whole numbers and a < b, then

a+1<b+ 1

C. Every whole number has its predecessor

D. O is the smallest natural numbers

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_7fpzbFLXRbay

8. Find the value of

5670 x 353 + 810 x 7 x 677 — 5670 x 29 — 5670.

A. 56700

B. 5760000

C. 5880000

D. 5670000

Answer:

o Watch Video Solution

9.1fa=20,b=5and c=2,then find (a + b) + ¢


https://dl.doubtnut.com/l/_gH9vuvdJArWN
https://dl.doubtnut.com/l/_bBUPhVd1KPIE

A2
B.4
C.3

D.1/2

Answer:

° Watch Video Solution

10. For a = 8, b = 5 and c = 7, which of the following is not

true?

Aa+b=b+a

B.(a+b)+c=a+(b+c¢)


https://dl.doubtnut.com/l/_bBUPhVd1KPIE
https://dl.doubtnut.com/l/_Qkstcu3qUspY

C.(axb) xc=ax(bxc)

D.a—b=b-—a

Answer:

o Watch Video Solution

1. Simplify : 273 x 42 + 273 x 50 + 273 x 8

A. 25935

B. 27300

C. 2730

D. 273

Answer:


https://dl.doubtnut.com/l/_Qkstcu3qUspY
https://dl.doubtnut.com/l/_dfGczcCuVbcZ

° Watch Video Solution

12. A fruit seller placed 12 bananas, 10 oranges and 6 apples

in a fruit basket. Tarun buys 3 fruit baskets for a function.

What is the total number of fruits in these 3 baskets?

A. 66

B. 84

C.48

D. 68

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_dfGczcCuVbcZ
https://dl.doubtnut.com/l/_WbPkNk33Wkoh
https://dl.doubtnut.com/l/_GJkxQuLRdYeF

13. Which of the following is correct?

A. Whole number divided by 0O is always O

B.If 78 x (x 4 25) = 125 x 78,thenx = 75

C.Ifa = 105,b = 516 and ¢ = 985, then a + (b + ¢) is
a whole number

D. The only property satisfied by by subtraction of whole

numbers is closure property

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_GJkxQuLRdYeF

14. Aarav filled his car petrol tank with 30 litres of petrol on

Monday. The next day, he filled the tank with 25 litres of

petrol. If the petrol costs ¥ 52 per litre, how much did he

spend on petrol in two days?

A.¥ 55

B.¥ 6820

C.¥ 2860

D.% 189

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_erEliZ2JpJSw

15. Which of the following is true?

A. (12 x 100) — (12 x 1) = 12 x 1001
B.58 x 101 = (58 x 100) — (58 x 1)
C.8 x 91 x 125 = 1000 x 51

D. (13 x 46) + (13 x 15) — (13 x 39) = 13 x 100

Answer:

o Watch Video Solution

Exercise Match The Following



https://dl.doubtnut.com/l/_vxZRmU8mWoOX

1. Match the following :
List-1
(P Dhstriboative
property shows

() Associahive

F1I.'|.IE"'|'FI'I.' '-.|'|1'l'.1.'-\.

(R} Commulative
property shows

(5} Multphcahve
identity for whole
numbers is

A. P-1,0-3,R-4,S-2

B. P-2,0Q-4,R-1,S-3

C.P-2,0Q-1,R-4,5-3

D. P-3, Q-1,R-4,S-2

Answer:

i

4

25+ 63 = 63 + 25



https://dl.doubtnut.com/l/_7z3JxUUgXHs8

[ W Watch Video Solution

2. Match the following :

List-1
(P} 1983 + 647 + 217 + 35} = i.
{Q) 736« 169 = 2

(R) 569=17+569=13+569=70= 3.
{5) 631 = 10 = 467 - 367 = 6310 = 4.

A. P-2, Q-4,R-3, S-1

B.P-2,0-1,R4,S-3

C. P-1,Q-4,R-3,5-2

D. P-1, Q-2, R-4, S-3

Answer:

List-11
124384
3200
631000
S6900

o Watch Video Solution



https://dl.doubtnut.com/l/_7z3JxUUgXHs8
https://dl.doubtnut.com/l/_DBqRWXoMzl0m

Exercise Assertion Reason Type

1. Assertion : 1000 is the successor of 999.

Reason : We get the successor of a whole number, if we

subtract 1 from it.

A. If both assertion and reason are true and reason is

the correct explanation of assertion

B. If both assertion and reason are true but reason is

not the correct explanation of assertion

C. If assertion is true but reason is false

D. If assertion is false but reason is true

Answer:



https://dl.doubtnut.com/l/_fUKOUQW1lGjj

I o Watch Video Solution

2. Assertion : 8932 is greater than 8392.

Reason : Greater number lies on the right side of one of the

two whole numbers on the number line.

A. If both assertion and reason are true and reason is

the correct explanation of assertion

B. If both assertion and reason are true but reason is

not the correct explanation of assertion

C. If assertion is true but reason is false

D. If assertion is false but reason is true

Answer:



https://dl.doubtnut.com/l/_fUKOUQW1lGjj
https://dl.doubtnut.com/l/_7k88CVYlp80v

[ ° Watch Video Solution

3. Assertion : If a is a whole number, then

a+0=0+a=a.

Reason : If a and b are whole numbers, then a + b is also a

whole number.

A. If both assertion and reason are true and reason is

the correct explanation of assertion

B. If both assertion and reason are true but reason is

not the correct explanation of assertion

C. If assertion is true but reason is false

D. If assertion is false but reason is true


https://dl.doubtnut.com/l/_7k88CVYlp80v
https://dl.doubtnut.com/l/_l8Zh1UsrkMgR

Answer:

° Watch Video Solution

4. Assertion: Ifa = 16, b = 12,then a x b = 192 is a whole

number.

Reason : Closure property holds over multiplication.

A. If both assertion and reason are true and reason is

the correct explanation of assertion

B. If both assertion and reason are true but reason is

not the correct explanation of assertion

C. If assertion is true but reason is false

D. If assertion is false but reason is true


https://dl.doubtnut.com/l/_l8Zh1UsrkMgR
https://dl.doubtnut.com/l/_139UldenzXU3

Answer:

° Watch Video Solution

5. Assertion : The sum of 278 4+ 691 + 221 is 1901.
Reason : If a, b and c are three whole numbers, then
(a+b)+c=a+ (b+c).
A. If both assertion and reason are true and reason is
the correct explanation of assertion
B. If both assertion and reason are true but reason is
not the correct explanation of assertion
C. If assertion is true but reason is false

D. If assertion is false but reason is true


https://dl.doubtnut.com/l/_139UldenzXU3
https://dl.doubtnut.com/l/_WS9n9RX9tsIt

Answer:

° Watch Video Solution

Exercise Comprehension Type

1. If a, b, c are three whole numbers then

(a+b) +c=a+(b+c)andax(b+c)=axb+axc
Find the value of 1546 + (984 + 5389).

A. 1917

B. 2530

C. 7990

D. 7919


https://dl.doubtnut.com/l/_WS9n9RX9tsIt
https://dl.doubtnut.com/l/_NpzizErG86Bo

Answer:

° Watch Video Solution

2. If a, b, c¢ are three whole numbers then
(a+b)+c=a+(b+c)andax(b+c)=axb+aXc
Find the product of 125 x 1009.

A. 10900

B. 13625

C. 12500

D. 13256

Answer:



https://dl.doubtnut.com/l/_NpzizErG86Bo
https://dl.doubtnut.com/l/_gRyiUfhKI7ga

| ¥ Vvatch Video Solution |

3. If a, b, c¢ are three whole numbers then
(a+b) +c=a+(b+c)andax(b+c)=axb+axc
State the property used in the following statement.
661 x 93 + 661 x 7 = 661 x (93 + 7)

A. Commutative property

B. Associative property

C. Distributive property

D. Closure property

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_gRyiUfhKI7ga
https://dl.doubtnut.com/l/_EPLUmG4Obp9v

4. Mayank consumes each of mango juice can priced at ¥ 50

and lichi juice can priced at ¥ 60 everyday.

Mayank spends on lichi juice in five days is

A.% 12

B.3¥ 300

C.¥ 250

D.% 200

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_hOELdsNyyrmD

5. Mayank consumes each of mango juice can priced at ¥ 50
and lichi juice can priced at ¥ 60 everyday.
Total money spent by Mayank in 3 days is

A.% 300

B.¥ 320

C.¥ 330

D.%¥ 150

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_pdXrCaJqAYN9

6. Mayank consumes each of mango juice can priced at ¥ 50
and lichi juice can priced at ¥ 60 everyday.
If Mayank consumes three cans of mango juice and 2 cans
of lichi juice each day, then how much money he will spent
in 3 days?

A.% 500

B.¥ 650

C.¥ 700

D.¥ 810

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_2peZ9nnTUeF3

Exercise Subjective Problems Very Short Answer Type

1. What is the difference of the successor and predecessor

of the place value of 2 in 2,35,716?

o Watch Video Solution

2. Find the value of (565 + 565) + (278 + 278).

° Watch Video Solution

3. What number should be replace by x?

(6x2)+(x+3)=6x(2+3)

o Watch Video Solution



https://dl.doubtnut.com/l/_dDAvXMQjKhx2
https://dl.doubtnut.com/l/_oJoYfyAOOD6P
https://dl.doubtnut.com/l/_ndKeNDRxIsLH

4, Calculate: 21 x 95 x 0

° Watch Video Solution

5. Find the sum of 437 + 200 + 633 using the properties of

addition.

o Watch Video Solution

6. Find the value of 5 — 4 by using number line.

° Watch Video Solution



https://dl.doubtnut.com/l/_ndKeNDRxIsLH
https://dl.doubtnut.com/l/_aPAIetc0EJSb
https://dl.doubtnut.com/l/_f7vvoQ1mnTze
https://dl.doubtnut.com/l/_FsTCvd956LPU
https://dl.doubtnut.com/l/_T6I4n6dBX9d9

7.90 orange can be packed in one box. How many boxes will

be required to pack 7200 oranges?

o Watch Video Solution

8. Using distributive law, find 937 x 1007.

° Watch Video Solution

9.Findthesum:1+2+ 3+ 4+ 96 + 97 + 98 + 99.

° Watch Video Solution

10. Write down the successor and predecessor of 2009009.


https://dl.doubtnut.com/l/_T6I4n6dBX9d9
https://dl.doubtnut.com/l/_4jFifODEH7IX
https://dl.doubtnut.com/l/_KfbIcdmCvppU
https://dl.doubtnut.com/l/_NmBktIoDxHI6

° Watch Video Solution

Exercise Subjective Problems Short Answer Type

1. Find the products by suitable rearrangement:

8 x 391 x 125

° Watch Video Solution

2. Find the products by suitable rearrangement:

625 x 86 x 1600

° Watch Video Solution



https://dl.doubtnut.com/l/_NmBktIoDxHI6
https://dl.doubtnut.com/l/_bvJjNlDeWytY
https://dl.doubtnut.com/l/_JLb3Yxji5R9c
https://dl.doubtnut.com/l/_QdOaIQTPLW5b

3. Find the value of each of the following.

0 =+ 1657

° Watch Video Solution

4.Find the value of each of the following.

8086 + 1

° Watch Video Solution

5. Find the value of each of the following.

1 x 9685

o Watch Video Solution



https://dl.doubtnut.com/l/_QdOaIQTPLW5b
https://dl.doubtnut.com/l/_2PmGicMorUKd
https://dl.doubtnut.com/l/_7aNspCfxuFqG
https://dl.doubtnut.com/l/_W5HjRNcK4992

6. Find the value of each of the following.

659 x 0

o Watch Video Solution

7.1n a shop, one notebook costs ¥ 15, a pencil costs ¥ 10 and
a pen costs ¥ 20. How much money does Meena spend for 3

notebooks, 5 pencils and 2 pens?

° Watch Video Solution

8. Find the predecessor of the difference between the

smallest 7-digit number and the largest 4-digit number.

o Watch Video Solution



https://dl.doubtnut.com/l/_W5HjRNcK4992
https://dl.doubtnut.com/l/_246HNUCinAQg
https://dl.doubtnut.com/l/_5vAE0GrkvbkA

9. Find the value of each of the following by using suitable
properties :

8937 x 648 4 8937 x 122 + 8937 x 230

o Watch Video Solution

10. Find the value of each of the following by using suitable
properties :

785 x 94 + 785 X 6

° Watch Video Solution



https://dl.doubtnut.com/l/_5vAE0GrkvbkA
https://dl.doubtnut.com/l/_6fSL9Yve3cmE
https://dl.doubtnut.com/l/_IlMAUJYU6Crr

11. Find the value of each of the following by using suitable
properties :

1063 x 127 — 127 x 1063

° Watch Video Solution

12. Find the value of each of the following by using suitable
properties :

9936 x 105 — 105 x 368 x 27

o Watch Video Solution

13. Verify the distributive property of multiplication over

addition if a =968, b =846 and c = 154.


https://dl.doubtnut.com/l/_rH36TyRZteRk
https://dl.doubtnut.com/l/_1fpL6WGs7rOr
https://dl.doubtnut.com/l/_m0RwaQONdiPW

° Watch Video Solution

14. Represent the following on number line.

16 — 11

° Watch Video Solution

15. Represent the following on number line.

10 — 2

o Watch Video Solution

16. By using the properties, find the value

53 x 17+ 40 x 17 — 6 x 17.

of


https://dl.doubtnut.com/l/_m0RwaQONdiPW
https://dl.doubtnut.com/l/_EAxn3RtHDkFj
https://dl.doubtnut.com/l/_zUrLqFrzoL8H
https://dl.doubtnut.com/l/_TQLSTc8AXM8f

° Watch Video Solution

17. The cost of a purse and a steel tiffin box is ¥ 250 and ¥
290 respectively. Find the total cost of 11 such purses and 11

tiffin boxes.

o Watch Video Solution

18.1f a =40, b =80 and c =160, find the value of :
(a +b) +c&a + (b+c)

Are the two values equal?

° Watch Video Solution



https://dl.doubtnut.com/l/_TQLSTc8AXM8f
https://dl.doubtnut.com/l/_wReyJwkUCRnv
https://dl.doubtnut.com/l/_6OuLRlvDa6IT

19.1f a =120, b =60 and c = 30, find the value of :
a+(b+c)and(a+b) +c

Are the two values equal?

o Watch Video Solution

Exercise Subjective Problems Long Answer Type

1. Write the predecessor and the successor of the smallest

number formed by using the digits 4, 0, 3, 5 only once.

o Watch Video Solution



https://dl.doubtnut.com/l/_bLYiO9JdWqDe
https://dl.doubtnut.com/l/_p2G74lYbiuGj

2. Represent the following on number line.

2x%X9

o Watch Video Solution

3. Represent the following on number line.

4+ 12

° Watch Video Solution

4. Represent the following on number line.

16 — 12

o Watch Video Solution



https://dl.doubtnut.com/l/_DeJc7TnykVtt
https://dl.doubtnut.com/l/_FMveIH0SOmqW
https://dl.doubtnut.com/l/_r32ZOgj9ddV4

5. Represent the following on number line.

5 x 4

° Watch Video Solution

6. Represent the following on number line.

8+9

° Watch Video Solution

7.Represent the following on number line.

9-38

o Watch Video Solution



https://dl.doubtnut.com/l/_WvbcDYZTdsYB
https://dl.doubtnut.com/l/_tpqBZjWurCp1
https://dl.doubtnut.com/l/_eWK5RYljiunu

8. By using suitable properties, find the value of each of the

following.

445 + 600 + 555 + 1400

o Watch Video Solution

9. By using suitable properties, find the value of each of the

following.

331 x 129 — 331 x 29

° Watch Video Solution

10. By using suitable properties, find the value of each of

the following.


https://dl.doubtnut.com/l/_cVQHxCY2fLYp
https://dl.doubtnut.com/l/_budgfSDFlQAA
https://dl.doubtnut.com/l/_tvuZFE23mwvU

250 x 60 x 50 x 8

o Watch Video Solution

11. By using suitable properties, find the value of each of the
following.

756 x 96

° Watch Video Solution

12. Find the product of the successor and predecessor of
each of the following.

MCI

o Watch Video Solution



https://dl.doubtnut.com/l/_tvuZFE23mwvU
https://dl.doubtnut.com/l/_1RLOfmWemZAa
https://dl.doubtnut.com/l/_o2YY7DfJura6

13. Find the product of the successor and predecessor of
each of the following.

CDXVI

° Watch Video Solution

14. Find the product of the successor and predecessor of
each of the following.

DCCVIII

o Watch Video Solution



https://dl.doubtnut.com/l/_o2YY7DfJura6
https://dl.doubtnut.com/l/_Z4XApgb0hCaH
https://dl.doubtnut.com/l/_g8FaLRzgfne0

15. Rohan has a total of ¥ 1900. He distributes one pencil to
each 30 students and 1 pen to each 45 teachers. The cost of
each pencil and each pen is ¥ 10 and ¥ 26 respectively. After
purchasing all the items, how much money is left with

Rohan if he lost ¥ 2007

° Watch Video Solution

Exercise Integer Numerical Value Type

1. What is the value of (490 — 90) = 20?

° Watch Video Solution



https://dl.doubtnut.com/l/_oT1o1SnxEDPb
https://dl.doubtnut.com/l/_O9PGoC1L9fd8

2.1f m + 18 = 0, then find the value of m.

° Watch Video Solution

3. What is the product of the successor of 49 and

predecessor of 21?7

° Watch Video Solution

4.What is the successor of product of 35 and 127

° Watch Video Solution



https://dl.doubtnut.com/l/_BTdVui97ICXb
https://dl.doubtnut.com/l/_koGypzprpOSO
https://dl.doubtnut.com/l/_UDRFlROh4xgn

5. What is the additive identity for whole numbers?

° Watch Video Solution

6. Find '@ so that the expression becomes

(a+10) +7=4+ (10+ 7).

° Watch Video Solution

7.The whole number which has no predecessor is

° Watch Video Solution



https://dl.doubtnut.com/l/_iW4AxLCnV7bw
https://dl.doubtnut.com/l/_giUVsrLqTsIy
https://dl.doubtnut.com/l/_nZfgp30MwlZi

8. Find the difference between the successor and

predecessor of 98 X 65.

o Watch Video Solution

9. What is the product of digits of sumof1 + 12 4+ 3 + 8?

° Watch Video Solution

10. What is the thrice of multiplicative identity for whole

numbers?

o Watch Video Solution



https://dl.doubtnut.com/l/_wP4tbtycDOR1
https://dl.doubtnut.com/l/_O2IE9KGxufNr
https://dl.doubtnut.com/l/_SnyDxfY034ou

Olympiad Hots Corner

1. A milkman supplies 34 L of full cream milk and 54 L of
toned milk everyday in Palam Vihar. The toned milk costs ¥
48 per litre and full cream milk costs ¥ 56 per litre. How
much money the milkman will earn in the month of june?
A.7 124640
B.3¥ 134880

C.¥ 101732

D.% 145650

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_6HXoItQviHHD

2. Which of the following properties is shown in the given
expression?
72(44+5) =72x44+72x%x5

A. Commutative property

B. Associative property

C. Distributive property

D. Closure property

Answer:

o Watch Video Solution

3. Using distributive property, 258 x 1008 =


https://dl.doubtnut.com/l/_sHJUbPdTIir7
https://dl.doubtnut.com/l/_3aYC3MCRQEk6

A. 258 + 1000 + 8

B. 258 x 1000 + 258 x 8

C. 258 x 1000 + 8

D. 1000 + 8 x 258

Answer:

o Watch Video Solution

4. Which of the following does not represent zero?

B.OX9


https://dl.doubtnut.com/l/_3aYC3MCRQEk6
https://dl.doubtnut.com/l/_KO8bbx618UCT

3—-3
D

Answer:

° Watch Video Solution

5. When we multiply a whole number and the multiplicative

identity of whole numbers, then we get

A. The whole number itself

B. The multiplicative identity

C.0

D. Negative of that number

Answer:


https://dl.doubtnut.com/l/_KO8bbx618UCT
https://dl.doubtnut.com/l/_c0qHYet591jb

° Watch Video Solution

6. Which of the following statements is incorrect for whole

numbers?

A. They are closed under addition and multiplication

B. Division by 0O is not defined

C. Addition and subtraction are commutative

D. Multiplication is distributive over addition.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_c0qHYet591jb
https://dl.doubtnut.com/l/_02bjRZ5NABpW

7. Match the Column-l with Column-ll.

If a,b,c, are whole numbers, then

Column-|
Iy a+h=he+g

(i} (a+ by
=g+ (h+)

{iliy a = (b + )
LN R R

Ai— ¢ii— diii — a

B.i — b,ii — c,iii — d

C.i — a,ii — b,iii — ¢

D.i — b,ii — ¢,iii — a

Answer:

(@)
(b}
()

(el

Column-11
Distribubivity ol
I‘nu|tlplh:.dlitln
Commutativity
under addition
Associabivity of
addition

L ommutativity

under multiplicabion

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_E2kxWsOE8FCL

8. 2500 metres of cotton cloth was made into 20 rolls of 30
m each and 25 rolls of 20 m each. Find the length of the
remaining cloth in metres and how many rolls of 70 m can
be made with the remaining cloth?

A.700 m, 10

B.1400 m, 20

C.2100 m, 30

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_E2kxWsOE8FCL
https://dl.doubtnut.com/l/_uNk11tCKiL1r
https://dl.doubtnut.com/l/_CwdXcUg5JH0r

9. Which of the following number of dots cannot be

arranged as a triangle?

A3

B.6

C.8

D.10

Answer:

o Watch Video Solution

10. Which of the following statements is correct?


https://dl.doubtnut.com/l/_CwdXcUg5JH0r
https://dl.doubtnut.com/l/_r71ojXiiPm0l

A. 50 is the predecessor of 49

B. Every natural number has a predecessor

C. Division by zero is not defined

D. Every whole number has a predecessor

Answer:

o Watch Video Solution

11. Which of the following statements is true?

A. All natural numbers are also whole numbers

B. All whole numbers are also natural numbers

C. There is no smallest whole number


https://dl.doubtnut.com/l/_r71ojXiiPm0l
https://dl.doubtnut.com/l/_mcK0jX5tKH6X

D. The greatest whole number is 100

Answer:

° Watch Video Solution

12. Which of the following statements is true?

A. The predecessor of the smallest 2-digit whole number

is a greatest 1-digit whole number.

B. There are 10 whole numbers between 11 to 21

C. The successor of a two digit number is always a two

digit number

D. Multiplicative identity of whole number is zero


https://dl.doubtnut.com/l/_mcK0jX5tKH6X
https://dl.doubtnut.com/l/_S9EHe6zFeopK

Answer:

0 Watch Video Solution

13. Which of the following number of dots cannot be

arranged as a rectangle?

A4

B.6

C.8

D.7

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_S9EHe6zFeopK
https://dl.doubtnut.com/l/_LL0jQ7Oiu0jY

Olympiad Hots Corner Fill In The Blanks

1. Predecessor of smallest 3-digit number is _.

A.100
B. 99
C.98

D. 101

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_LL0jQ7Oiu0jY
https://dl.doubtnut.com/l/_dEpOHqsbaOqQ

2. ......is the multiplicative identity in whole numbers.

Al

B. 99

C.0

D. 98

Answer:

o Watch Video Solution

3. R is the additive identity of whole numbers.

AP Q R S
100 1 0 1


https://dl.doubtnut.com/l/_xW4sBJcwZEPK
https://dl.doubtnut.com/l/_MhwKvzfvqdwk

Answer:

o Watch Video Solution

4. is the only whole number which does not have

predecessor.

Al

B.O

C.2


https://dl.doubtnut.com/l/_MhwKvzfvqdwk
https://dl.doubtnut.com/l/_PJXxdy9f47Xz

D.3

Answer:

o Watch Video Solution

5. Every natural number has a _ except

has a

A. Successor, O, predecessor

B. Successor, 1, predecessor

C. Predecessor, 0, successor

D. Predecessor, 1, successor

Answer:


https://dl.doubtnut.com/l/_PJXxdy9f47Xz
https://dl.doubtnut.com/l/_XNueR72Bbih1

o Watch Video Solution



https://dl.doubtnut.com/l/_XNueR72Bbih1

